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1. What are the solutions of 6. What are the solutions of
2 _ —0°
(2x +3)(x —5) = 0 2X°+4x-6=07%
3 @—3 and 1
@—— and 5 1
2 B -=and6
3 2
B —5and5 C 3and6
3 . . .
C 5 and 5 7. What is the complete factorization of
25x? — 367

A (5x+ 6) (5x + 6)
B (5x-6) (5x - 6)
5Xx + 6) (5x — 6)

2. What is the correct factorization of
X2 + 6X + 8?

A X+8)(x+1)
B (x+4)(x+4)

X+ 4d)(x+2)
8.Solve 2x? —17x =9.

3. Fact d sol 2_7x-30=0. —
V\?k?a?;?en thzos\tlaelu)t(ions’;( a-s(_?‘ —|7')(,_ Ci - O
A -10 and 3 :
2x—1-0
E)10and -3 @(Q\H‘l)(’x- ‘7\7-0 = x—9=0
C 10and3 — 1
= -a O\ﬂd q
4. What are the solutions of 9. Solve 4x? -16=0.
X2 —X—6=0? = - +t+ ) =
A -2 and -3 ? (9’6 ll-) (a L,- O —_—
@—ZandS 276_4—=0 i}l-(:q-?%—-l
C 2and -3 Q%*?‘:OQ 9‘)(:“7' éx:_g
5. What is the correct factorization of r\}[‘ — i 2‘

3x% + 14x + 8?2
A (Bx+4)(x+2)

B 6x+2) (x+4) = (ac-'IO) ('x—lO):C)
C (Bx+8)(x+1)
= (oc-lD)n—_— O

10. Solve x? —20x +100=0.

x =10
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